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𝑑𝑃𝑖

𝑑𝜀
= 𝑡𝑚𝑜𝑑 ∙ ∑ 𝑟𝑗

𝑑𝑇

𝑑𝜀
=

𝑡𝑚𝑜𝑑

𝐶
∙ ∑ 𝑟𝑗 ∙ 𝑄𝑗

ε

𝑃𝑖 = 𝑃 ∙ 𝑋𝑖      

rj = kj ∙ Pi

𝑡𝑚𝑜𝑑 =
𝜌𝑘𝑀𝑙

𝜌𝑙𝑉𝑙
∙

1

1+𝑁𝑛
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ρ ρ

𝐶 = ∑(𝑎𝑖 + 𝑏𝑖 ∙ 𝑇 + 𝑐𝑖 ∙ 𝑇2 + 𝑑𝑖 ∙ 𝑇3)  

𝐹 = ∑ (𝑋р𝑖 − 𝑋э𝑖)2 + 0.1 ∑ |𝑇р𝑖 − 𝑇э𝑖|4
𝑖=1

16
𝑖=1

δ δ

δ
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 csrc TRIqqq 2

𝑞𝑐 𝑞𝑟

𝑞𝑠 𝐼 − 𝑅 𝑇𝑐

𝐼 = √
𝑞𝑐+𝑞𝑟−𝑞𝑠

𝑅(𝑇𝑐)
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𝐼𝑚𝑎𝑥 = √
𝑑𝑐[𝜋∙𝑎𝑐(𝑡𝑐𝑚𝑎𝑥−𝑡𝑎𝑚𝑏)+𝜋∙𝑒∙𝐶0(𝑇𝑐𝑚𝑎𝑥

4−𝑇𝑎𝑚𝑏
4)]

𝑟0(1+𝛼∙𝑡𝑐𝑚𝑎𝑥)

𝑑𝑐 − 𝑟0 −

𝑎𝑐 − 𝑡𝑐𝑚𝑎𝑥 − 𝑡𝑎𝑚𝑏 −

𝑒 − 𝐶0 −

𝑇𝑐𝑚𝑎𝑥 − 𝑇𝑎𝑚𝑏 −

𝛼 −

𝑎𝑐 = 0,0749 ∙ √
𝑝

𝑇𝑎𝑚𝑏
∙ √

𝑡𝑐𝑚𝑎𝑥−𝑡𝑎𝑚𝑏

𝑑𝑐

4

𝑝 −

𝐼𝑚𝑎𝑥 = √
𝑑𝑐[𝜋∙𝑎𝑐(𝑡𝑐𝑚𝑎𝑥−𝑡𝑎𝑚𝑏)+𝜋∙𝑒∙𝐶0(𝑇𝑐𝑚𝑎𝑥

4−𝑇𝑎𝑚𝑏
4)−𝐴𝑠∙𝑞𝑠]

𝑟0(1+𝛼∙𝑡𝑐𝑚𝑎𝑥)

𝐴𝑠 − 𝑞𝑠 −

𝑎𝑐 = 0,044 ∙
𝑘𝑣(𝑝∙𝑣)0,6

(𝑇𝑎𝑚𝑏∙𝑑𝑐)0,4

𝑘𝑣 − 𝑣 −

𝑘𝑣 = 1,194 − cos 𝑓 + 0,194 ∙ cos(2𝑓) + 0,368 ∙ sin(2𝑓)

𝑓 −

𝑞𝑠 = 𝑄𝑠𝑒 ∙ sin 𝑓𝑠

𝑄𝑠𝑒 − 𝑓𝑠 −

𝑄𝑠𝑒 = 𝐾𝑠𝑜𝑙𝑎𝑟 ∙ 𝑄𝑠

𝐾𝑠𝑜𝑙𝑎𝑟 − 𝑄𝑠 −
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𝐾𝑠𝑜𝑙𝑎𝑟

𝐾𝑠𝑜𝑙𝑎𝑟 = 1 + 1,148 ∙ 10−4 ∙ 𝐻𝑒 − 1,108 ∙ 10−8 ∙ 𝐻𝑒
2

𝐻𝑒 −

𝑄𝑠 = −42,2391 + 63,8044 ∙ 𝐻𝑐 − 1,922 ∙ 𝐻𝑐
2 + 3,46921 ∙ 10−2 ∙ 𝐻𝑐

3 − −3,61118 ∙ 10−4 ∙ 𝐻𝑐
4 +

1,94318 ∙ 10−6 ∙ 𝐻𝑐
5 − 4,07608 ∙ 10−9 ∙ 𝐻𝑐

6

𝑄𝑠 = 53,1821 + 14,211 ∙ 𝐻𝑐 + 0,66138 ∙ 𝐻𝑐
2 − 3,1658 ∙ 10−2 ∙ 𝐻𝑐

3 + +5,4654 ∙ 10−4 ∙ 𝐻𝑐
4 −

4,3446 ∙ 10−6 ∙ 𝐻𝑐
5 + 1,3236 ∙ 10−8 ∙ 𝐻𝑐

6

𝐻𝑐 −

𝑓𝑠 = 𝑎𝑟𝑐𝑐𝑜𝑠[cos 𝐻𝑐 ∙ cos(𝑍𝑐 − 𝑍1)]

𝑍𝑐 − 𝑍1 −

𝐴𝑠 −

𝑍1 𝐻𝑒

𝐾𝑠𝑜𝑙𝑎𝑟
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